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Check the question papér for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw
diagrams.

GBILY : Cseeuwrear QLsHéd UL auerhs FwaturHsemar ér@g;emb.

SieweNI5G| elaTEs@hs@Lh ellaLweflEse.

Draw diagrams and write equations wherever necessary.

UGS - I/ PART - I -

- 15x1=15

(ii) Qaer@&slul (Berer wrHm L seild Waayb .G,rgj)QGm_uJ elenL_anwis

Note :
G@OIoY : (i)
Note : (1)

(ii) -

Cambs®sss GO L e lamanyb Caigs ET(LPSELD.
Answer all the questions.

Choose the most appropriate answer from the given four alternatives .

and write the option code and the corresponding answer.
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2
: L7 g @yoQurelwreled o e creaLrrengseflen erefraniiansg -
( . 22
(<) 6.022x 1023 (;:gg})) 6.022 x 10
' 1.7

6.022 x 1023
1.7

Total number of electrons present in 1.7 g of ammonia is :

A 6.022 x 102¢
1.7

2
(a) 6.022x1023 (b) 6.022 x 10
1.7
fol 22 X 10%* . 6.022 x 1023
1.7 (d)
: 1.7

2. n=3 eTem (PFeEnLD @amemrn_ 6T GBoT 61 6T Qum;ﬂ@és@d) Y ML résefler Qurss

TRTE&EmS :
(=)o (<) 8 @) 5 (™). 7
’.I‘he total number of orbitals associated with the principal quantum number n=3
15,2 .
(a) 9 _ (b) 8 . () S (d 7
3. ‘yflliguin glsemer 2 16l(pLb.
() « ' (<) B :
(&) v () Qaupled ggiierena
Tritium is a -emitter.
() « | | ®) B
(c) v ; (d): None of these -
4. , paflilansensmar augeumwogsedler LwaLGADS.
(=1) SlgHwid (=) Gsmgwid (@) G]urn_.l_rreﬂu_lm (7r) s?eﬂﬁ.ub_
is used in devising photoelectrlc cells '
(a) Lithium (b) Sodium - (c¢) Potassium (d) Caesium
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WleraihauataIbmier Wms, @Geophs beutiu Hlenelig setann CararLg) :
(«24) K,CO4 (<) Na,CO, () BaCO, (FF) LiyCO,

Among the following the least thermally stable is :

(a) K,CO4 (b) Na,CO, (c) BaCO, (d) Li,CO,

Qm Jbebaﬂu_l‘e'oq aumyellen Geutiuflena HMID e eTey QEHLLEETS ifslEEh
Curgl ST PTDU HWSHLD P -a1 rdHmLD
(st) 4P (<) 2P (&) P (Fr) 3P

If t:::mperature and volume of an ideal gas is increased to twice its values, the
initial pressure P becomes :

(a) 4P (b) 2P (c) P (d) 3P

DTS DH(WPES55D Gwailer uflorhls Qsrarariiu@ Qeutiugdlen sjeray :
(<=t) AE (<) AH (@) as (") AG

The amount of heat exchanged with the surrounding at constant pressure is
given by the quantity : ‘

(a) AE (b) AH (c) AS (d) AG

PClg, = PClyy +Cly, erenp elleanuien swhleeuia, PClg -a1 HagaanLgod
érenid X, PClg -6t Agm_&&& Wahley 0.5 Guorens @ mbsrd, swbleaauldd elea®
Qumpenaer wHMLD ellenar eflener Gummersatien Qorss CGuordsaiar ramanlsams

(1) 0.5-X (<) X+0.5 (&) 2X+0.5 (F) X+1

If X is the fraction of PCly dissociated at equilibrium in the reaction

then starting with 0.5 mole of PCls, the total number of moles of reactants and
products at equilibrium is :

(@) 0.5-X (b) X+0.5 () 2X+0.5 d) X+1
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9.

10.

11.

Sledrau gnib Qovwp Hrar semasalda g, Qradwl AHWamHgE Cnied
allevdadens STLOHpE ?

(<) A Clrmer + GGy s LD

(<) B + eoplils enfon

(&) HCl + ;EI'T

(7)) erdsama + Hir

Which one of the following binary liquid mixtures exhibit positive deviation from
Raoult’s law ?

(a) Acetone + Chloroform
(b) Water + Nitric acid
(c) HCI + Water

{d) Ethanol + Water

2 dyleLadle (2-butynal) o drer fsiom(o) LODIWL eu(w) Yevewtiysafler
ranaiismssE Qe Guuerer eldsb

(=) 84 (=) % (@) & (m %

The ratio of number of sigma(o) and pi(w) bonds in 2-butynal is :

(@) &4 (b) 4 (c) &4 @ %

CHy —CH, ~ CH~CH=CHy arénp Geinogdlen IUPAC QUi
COOH
(=1) 2-ergglevby L -2-rarmudls 2leud
() 3-ar58l 09y, -3-ramuils jbleb
(@) 3-arsSlevrdlyyl -2-rarmuidé blen
(rF) 2-ergdlebiGlul -3-rarmuilé ibleown
The ITUPAC name of the compound
CH3—-CHy~CH~CH=CH, is :
(I)OOH
(a) 2-ethylbut-2-enoic acid
(b) 3-ethylbut-3-enoic acid
(c) 3-ethylbut-2-enoic acid
(d) 2-ethylbut-3-enoic acid

Kindly send me your study materials to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

12, Qumrmdsis

(1)  —=NH, (i)  saCurmr -
(2) -CN (i) wnienod -
(3) —SOzH (iii) OCeorm -
(4) —-CHO (iv) swGenr -

(=) (1)-0), (2)-(i), (3)-(iii), (4)-(iv)
(<) (D-(v), (2)-(ii), (3)-(id), (4)-()
(@) (1)-(), (2)-Gv), (3)-(i), (4)-(ii)
(F) (1)-(id), (2)-(), (3)-(iv), (4)-(ii)
Match the following :

(1) -NH, _ (i) Sulpho -

(2) —-CN (i) Formyl -
(3) —SO,H (iii) Amino -
(4) —CHO -(iv) Cyano -

(a) (1)-(), (2)-(), (3)-(iii), (4)-(iv)
(b)  (1)-(iv), (2)-(iii), (3)-(i), (4)-(1)
(c) (1)-(iii), (2)-(iv), (3)-(1), (4)-(ii)
(d) (1)-(iii), (2)-(i), (3)-(v), (4)-(i1)

13. -1 aflenareilenan &TLL TS :
(<1) —CH,CHy (<) —F (@) —-Cl1 (®) -NO,

—1 effect is not shown by :

() -CH,CHy (b)) -F (c) -Cl (d) -NO,
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14. Waaumib eQenanded Cafrolb (A) -mé Harhls.
)_,_,r"; v 2 CHC 6 H 5 O

+(A)

-

)O3
k (i) Zn/H,0
CHO
. OH e ., | cdoH
(@) @ i |

Identify the corﬁpound (A) in the following reaction :

CHC H '
® ()0, g * | |
(i) Zn/H,0 +(A)
CHO G4 CHO
(a) [:i:j m)

. OH . COOH
(c) @ (d)
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15. &Rl 2 CanGon ), G eireafl e Qardlflowsaldar gmeaufas oerg
CH3CL < CH,Cl, < CHCI; < CCl,

ST : Canamen igmissenar oreamanilsans siflaflinden CanGer y,dGaensafen
QsrAHlemanb s,
(<) s=Day &M, e SMTETOID Foum).
() &DO LHPID STrEEID Grar@o sf, Gogib smremb snpElbE sfure
cSleT& ST @D,
(@) s=Dm wHOID sTrewTID Qram@Hb saipTarenel.

(F) SxDmI LOMID Sirewid Grem@n &M, AT SNTEWID SndMIDE sflwirer
eSleT&s LD, ' ‘ ,
Assertion : Increasing order of boiling points of halo alkanes are
CH4Cl < CH,Cl, < CHCl, < CCl,.

Reason : The boiling points of halo alkanes increase with increase in the
- number of halogen atoms.

(a) Assertion is.true but reason is false.

(b) Both assertion and reason are true and reason is the correct explanation of
‘ assertion. Y . - ' '

(c) Both assertion and reason are false.

(d) * Both assertion and reason are true but reason is not the correct explanation
' of assertion. ' . '

| LS - I / PART - I
GOy : sTemeuCuienid SpmI eNATTES (EHE S v well&salb. eflerm ereir 24 -5
" sULmuwns aleoLweldsan. ‘ 6x2=12

: Note : Answer any six questions. Question number 24 is compulsory.

16. dllenanssl QLU (& srewtl eremmme eremen ?

What is meant by limiting reagents ?

17. Qamiiseruisfen B&EFWLDHDS SeTenio CSessrr:'_L_:rrll_qemmé; M.

State Heisenberg’s uncertainty principle.
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18.

19,

20.

21.

22.

23.

24.

Wl mant @ wHmh Fsndmeaniy manl arHsEnsE @aldan e GryamrD
S[HS.

Give an example for lonic hydride and covalent hydride.

QUNIESTTL&ET eTarpiTed cTanment ? @)1 T(HSSIEGHT(HNSET &1,

What is path function ? Give two examples.

denend @GS - CUMTLMISESEELD.

Define reaction quotient. '

50 g Gmu Brreng 20 mg sapbgledtar Hamorismar QaraRT(HeTarg). S THGETerT
Cuorgg S urmer (TDS) wdinleer ppm-Ged samsdHs.

50 g of tap water contains 20 mg of dissolved solids. What is the TDS value in
ppm? :

Garel) BlamenmpuEliy epenpllen ppaid mSen ereueurn swil&siLEang ?

How will you prepare ethene by Kolbe’s electrolytic method '9

2,0 & @ Ted & érfl 60l (5 Bl Cﬂ-gr_r)Gmr'r 2 OCHaHET SWMAEs 2 gy gGaad Qe
(PPDEDETE &1, | |

Mention any tWo methods of preparation of haloalkanes from alcohols.

2 sraflukid) Grl LT eurgear @m‘rﬁglugpéﬂw Gul Crred 1089 K Geutiufleneoudlied
arflsslin@dng. @yl Qeauliufloe 294 K o6 QmEELCurg QuindirsE e
2fleLls Hneans sasH[Hs.

If an aut.or'nobile engine burns petrol at a temperature 6f 1089 K and if the
surrounding temperature is 294 K, calculate its maximum possible efficiency.
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Gy : GTG.QQJGUJ@JLR) ShMI aﬁ]em'nésm@e‘s@ eflen_welldgeyid. eflenm erer 33 -5
S MU, aﬁ]mt_maﬂé;a;emb. 6x3=18

Note :  Answer any six questions, Question number 33 is compulsory.

25. 76.6% &miuian, 6.38% anlrger, 85 spelsi> apsaigmanyib Qarane Geiosdan
cefiu 988 aumiLm’ g ear srars.

Calculate the empirical formula of a compound containing 76.6% carbon, 6.38%
hydrogen and rest oxygen. :

26. Qufieflwd whmd Curyrefen Swallurg@n gppoe @UbdEs.

Compare the ionisation energy of Beryllium and Boron.

27. alreysed LHYIb LTiigd - Gmgjurr@ E(H.

Distinguish between diffusion and effusion.

1 . .
28. HpSy) = Hpy + 5 Sog) eremp ellenenuied @@ @GOG L Qeutiuflenaulied

(1) ZHQS(g} e 2H2(g)+82(g)
) s 3
(11) SHQS(g) = 3H2(g)+ 5 SQ(g)

2 & Qar@asiulperer dlmeasEné@ Ko wdlLsmers sansd(Hs.

At particular temperature K,=4x 1072 for the reaction

1
HpSig = Hag * 5 Sag-

Calculate K. for each of the following reactions.

(1) 2H,S(, = 2Hy g+ Sy
(i) 3H,S, = 3Hyy+oS
2%(g T UT2(g) T o V2(e)

[ Simiys / Turn over

Kindly send me your study materials to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

6422 | 10

29. @@ sersd, HoalLdby sereaEEiu uamenar el eusnsTen Blupgenanser
wmenau ?

What are the conditions when a solution tends to behave like an ideal solution ?

30. JSugrar elfleow aferdss.
Describe Fajan’s Rule.

31. Yevarri@eer o Lallangey upd HnEHiy euenrs.

Write short notes on hyper conjugation.

32. Ui @H&sh - llaTéEs.
Explain Birch reduction.

33. Wereumd sflng Gaio aumssEns@, @aQarampEb ¢ aHESESTLH S(HS-
(i) Quender euenem Sievwlienu QupHHEETS SACTTGLLIRE CaroLb.
(i) <=wCrmCuiligs vdelean cuenerw CambLb.
(iii) smrrGurensdefls Gamwblb.
Give an example for each of the following type of organic compounds.
(i Non-benzonoid aromatic compound.

(ii) Aromatic heterocyclic compound.
(iii) Carbocyclic compound.

UGS - IV / PART - IV
GILY : Smensg elamss@EnsEn oL wealssea. 5x5=25
Note : Answer all the questions.
34. () (1) &Mhs GeuramLLd eramrenent Lbi elleuflésewb.
(i) Mn?* wpmd Cr3* fAueupdler sl yTer SMLUILEMETS S(HE.
{60605
(=) () FQsrEd saflomser wree ?
(i) Qsrgdser wpmb awlmssalld Toslrrear soursearannude gTHU@LD
< AUTHSET LDIDDEISMETE Fnl)s.
(a) (i) Describe about magnetic quantum number.
(ii) Give the electronic configuration of Mn?* and Cr3+.
OR

(b) (i) What are f-block elements ?
(ii) State the trends in the variation of electronegativity in group and periods.
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]EJJ;&@M)(@[DH@T @Ross penenwsaer efleuflasa)b.
JCTTVRME

QrmQ ¢ _ _ '
5 e UM T IMIdEH e LD, D|gen B nend H(m.
(i) Hen Bl

36. (<) dgHunn WHmILD D et

(<) (1) eremy

<O apeinn ApUGudLmeners UL g w6 (.
ities between lithium and magnesium.

OR
¢ its unit.

(a) Discuss the similar

(b)Y (i) Define entropy.  Giv,

i) Li r thy o 3
(1) List any three characteristics of Gibbs free energy.

36. (=) QmEiy Werpuiled obCuorefwr swrilssaussrer K. whmib Kp wliG9emer

umelldsayb.
SV G)
() C, psmpy SHaUTsme fpaddan ML réd (Mo) Qardrans gpeid
leurdésayb. 4
(a) Derive K and Kp for synthesis of ammonia.
OR

(b) Discuss the formation of C, molecule using Mo Theory.

37. (=) VSEPR Gararensuiien Sigliuen uld Spssaml epasmmsaiien 6UIq.CUMBISENET

CISTEICES
(i) BF4
(i) BrF,
(iii) PClg
(iv) SFg
(v) IF,

: ANV |
(<) sl wipHlukseiler gCsaib Qran® cimssamer clarhgs.
(a) Mention the shape of the following molecules based on VSEPR theory.

(i) - BFy
(ii) BrF4
(iii) PClg
(iv) SFg
(v) 1IF,

OR
(b) Describe any two types of constitutional isomers.
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38. (@) CyH, eranp pO&HInm eumiurGenw (A) 6ren C‘é&r‘rme_Ll(f:’rIfTL_ﬂGbT benty
Bpwlpsss Qeidpg. (A) e GCarrflayar eeaul® (B) @ws
5®EADG. (A) speng HBr e Len ellenanyflybGurg) (C) epeurdpgl. (A), (B)
LPOID (C) R& sam_Ms. elaersamar sﬁmé@&.

DIV
(<=1) CH3Mgl - Qgrumidl Wemeupeuameupenn ereueumm guimfliumis ?
(i) @flrrageman®
(i) <A CLmen
(iii) BSsCsen
(a) An'organic compound (A) C,H, decolourises ‘bromine water. (A) on reaction

~ with chlorine gives (B). (A) reacts with HBr to give (C). Identify (A), (B) and
(C). Explain the reactions. :

OR
(b) Startiﬂg from CH;Mgl, how will you prepare the following ?
(i) Acetaldehyde
(ii) Acetone

(111) Methane

_-oOo-
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